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Instructions:(1)ThisQuestionPq.ilTt*lsections.Attempteachsectioninseparateanswerbook'

3l lrux l'"tlliiflf l3#ilr;,-ering the descriptive questions.

SECTION: t (or)

3:ifi 3iffi::T',f::Ji$flylJ#';"j#LTJf**:ii,:fjs 50 Mhz and need to a'ocate 100 Khz (03)

ineachdirectionperchannelforthevoicecommuni.ution.Calculatethenumberofchannels
allocated per cell lf we.use + a r'.rri 'L"t' futtt'n' #tt" you' tontlusion on the number of

channels/cell'

Q.l C p.tttiUt GSM architecture in detail'

3:if ffi:::,'n|jffi"::'ri,:fii!',iiJ"ffii,idth ava'abr.l:,, Mhz and need to a'ocate 50 Khz in

each direction per channel fq #;;t..-.orn*uni.ation' cutculate the number of channels

allocated p., ..lt if we use 4 e, ; 
";i';;rr. 

puu"rn. w;i" t;"t conclusion on the number of

ehannels/cell' . i
Q.1 C Explain the error protection mechanism used in GSM'

o .2ASuppose twonodesAandBareconnec tedv iaaJ inko fbandw id th4Mbps .andpropaga t ion (05 )- 
time of 120 ms. The path in trr. ,.v.rs. Jirection, rt"* ii-1o- e has bandwidth of 2 Mbps and

propagation iin," ot ilO rr. nrrunl. iuil ;;;il 'izt linttuOing all headers) is 500 bytes and

acknowledgt;;;il;t''ti" it 100 bytes' Answer the following:

a. calculate the throughput A can achieve in transmitting to B using stop-and-wait' You

cantreata500-bledatapacketastransferring500bytesofusefuldata.
b. calculate,h, ,l;;';il;. ilnJo*, i"[fr;';f"umbei of data packets that A must use in

ordertot,ansferitsdataasfastaspo' ' iur., i fAinsteadusesSlidingWindow.

Descr ibetheconceptof roaminginGsMwithanexample 'Di f ferent ia teHard-Handof fand(05)
Soft-Handoff. OR

Asys temuses the . . s top -u " l . *1 i1 .anq -p ro toco r . r ^ r3ac |n ,acke tca r r i es500b i t so fda ta , (03 )
how long does it tate io send I million Uit-'ii data if the distance between the sender and

receiver is 5000 km and the propagation ,p..a i, z* t o"a m ? Ignore transmission' waiting' and

processing delays' W' u"ut" nf dutu or control frame is lost or damaged'

Discuss the concept of priorities in 802'1 1' 
.^.n*. 

(04)

CSMA/CDcanbe" td i nw i re l essne two rko rno t ' exp la i nw i t h reasons ' ( 03 )

suDpose there are 3 stations sl, s2 1d^s3 
that wants to send the packets of size 500 bytes' (04)

t+bb Urtes & 1000 uv,.r ri1i*. o, 110. 
uit"o'irespectivety' Assttme slot time of 20ps' SIFS

Time of t0ps, RrS ihr#d ;f r'roo uv,.iiire*?;,:1,:l ihreshold of 2400 bvtes and RTS'

CTS&ACKofl00bytes'Eachstat ion.un' t .un" ' ' " i t200byaes.perslot t i rne.Whendoesdata
transfer comprete to, uit ,tutions? write any assumptions if reqlired'

Describe hidden,.r#;ru-.ro"seo termi,i^i;;;,;r.Discuss the solutions to it' (04)
(02)"niii"*",i",e 

cellular and adhoc networks'

(04)

OR (04)
(03)

Q.2 B

Q.2 A

Q.2 B
Q'2 C

Q.3 A

Q.3 B
Q.3 C
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SECTION: II

Q.4 A Explain anyone reactive routing algorithm with an example'

Q.4B A system uses the "stop - and - wait" ARQ protocol If each packet caffies 1500 bytes of

data, how long does it take to ,"na-iO ^;nliO*. il*t 
distance between the sender and

receiver is s000 km and the propffi; ff; : l::* 
m ? Ignore transmission' waiting'

and processing delays. we as.sume io data or control frame is lost or damaged'

e.4 c Differentiate iroactive, reactive rffitt";;;il;irouting algorithms for MANETS

3:ifi B:ilJffiifiiil:ivt;;:",:13'?:',:il'1"1"x;f;i"iry*f;+*'*l'"ffi:?i'*"'assumingan- 
RTT of 100 ms, a packet size of iiiil."aln initiut ,-IiTT of "handshaking" before data is

f;,,t;_A: The bandwidth is 1.5 Mbps, and data packets can be sent continuously

Case-B:Thebandwidthisl.5.Mbps,butafterwefrnishsendingeachdatapacketwemust
wait for one RTT before sending the next'

Case-C: The bandwidth is ..infinite,,, meaning that we take transmit time to be zero, and up to

T}Packets can be sent Per RTT'

Q.4CWhatistheneedofadhocnetworks?Discusstheapplicationsofadhocnetworks.

O.5 A Describe the concepl of Mobile IP

d.s n Bxplain Td;;;;ti;tng mechanism using TcP header'

O.5 A Explain slow start' congestionavoidance mechanisrn of TCP'

q.s g Explain TC;;;;;' ii""* rqp implements flow control mechanism?

e.s C At time t, u rCp *nnection haJ:ffi;#il";il;oi o rs The maximum segment size

used by the connection is I KB. whatls the congestioi *inoow after it sends out 6 packets

and receives acknowledgments f";;ii of tnttt 5uppo" there is one acknowledgement per

Packet '  .  r - , - .^ t^-+n
a' If the connection is in slow-start?

b. Ifthe connection is in congestion avoidance phase?

Q.6AWhat iscumulat iveacknowledgement?Exp|a intheconceptofSACK.
Q.6 B Describe #;;*t oiputtiur utknowledgement in NewReno

0.6 c Explain t";;;i*;inj searctr mechanism of AODV'

d.e o Diicuss ZRP in brief'
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